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i gt : 100
100

m.form the Hall Supervmor unmedlately :
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

jellanrs g

u@dl -1 /PART -1

Simensg améaEpsEh eflewaldsab. 14x1=14

Wenens

Note : (i) Answer all the questions.

(i) Choose the most ap rcprnte answer from the given four alternatives and write

the option code 2 .
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[ Qurés wHuCuemser : 100

& 2jera] : 3.00 wenfl GBI ]
[Maximum Marks : 100

Time Allowed : 3.00 Hours |

SMleyenraet : (1) mansg efarrés@nlshluls oiFau udleurdl o cTeTST 6TENLISEM e
slumTs s & Qa;rrsnmmm a&&?uu;ﬁaﬂm Gopul@mLider SioDs
asemasrrmﬂuurrmrﬂv_w 2 LG LTS Qg fedl&Esa, .

2 Beob <dey (smpuy ovloa LLECL  dEHUSHEWD
aqé@a;rrq.@mg,g)@m vweau@és Ceauam®b. ULBSE eu@rausnE
GQuendled LwgmHiEse,Lb. ‘
Check the qﬁesﬁoh paper for fairness of printing. If there is any lack of fairness,
inform the/fall Supervisor immediately.

(2) UseBlite or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

@Ml : @maﬁ]mrrgg,}mif Lr;msh@ L@dsear QarairLgl.

Note : This quéstionnpaper contains four parts.

N\ u@&S -1 /PART -1
Gy (1)&66:657551 arésEns@h e wefl&se)w. 14x1=14

(u) Qar@&sluLerar wrHn e seafed Wseyw ghyomLw alleLulmens
CsAsRss1s GHULGL clamiulmenyb Caigg) Tpse|wb.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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NAXB) =6 opmid A=(1, 3} erefléd, n(B) 2Lemg) :

(<24) 1 (5p) 2 (@) 3 () 6 \\
I n(AxB)=6 and A={1, 3}, then n(B) is : Q)

@ 1 b) 2 () 3 (d) 6 §
{

[:A=B g @mupé smiyy whmid n(B)=7 erafld, n(A) ez @Q

(27 (25) 49 (@) 1 (
If f:A—=B is a bijective function and if n(B)=7, then n(A) is equal to@
(@) 7 (b) 49 () 1

&0)14

1 1paed 10 cuarwerer (@rew(D eremmaEpid o L UL ) @gg Gr@maETTED cu@GU (D

WOsFS Ol eremr O
(1) 2025 (<) 5220 (@) 5075 () 2520

)
The least number that is divisible by all the nu% from 1 to 10 (both inclusive) is :
(a) 2025 (b) 5220 @ 5025 (d) 2520

N

@M sl (hg Qgsmir mﬂm&uﬂ#&guqmﬁ 2 GTETET. <& 60 lGY-QJgj 2 mitiy
m erafled, ipEs sl B CpnLii enflensuic o e erévar o mrisaler s @sa :

(1) 16 m (%& (@)/31 m (FF) % m

An A.P. consists of ?:1 " If its 16" term is m, then the sum of all the terms of this AP.is:

N
() 16m (?)'ch) 2m (© 31m @ 3 m

464 - (pp GEHIONS LIHD Weou(HeuaTeudmIT Tangd L L Gauar(io ?

(1) 422 () 1622 (@) 82 () —8x2
Which of the following should be added to make x*+64 a perfect square ?
(a) 4x2 (b) 16x2 (c) 82 (d) —8x2
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@ Crflu swenuriig.er euenruLLd g 2 GLD.
(Jf%‘;ﬁéa@&rr@) (=) eulLIb (@) ureuenerwd  (F) aqgﬁuumanmwgb

Graph of a linear equation is a

(@) straight line (b) circle (c) parabola (d) hyperbola { .

AABC -uié DE||BC, AB=3.6 @&.15, AC=2.4 Q&.l5 wpyd AD=2.1 @aLS e‘reoﬂa)
AE -Wan Berid C O

(914058 ()18 Qa8 (@) 12058 (m)yL05 Geus
If in AABC, DE||BC, AB=3.6 ctn, AC=2.4 cm and AD=2.1 cm thehlthdlength of AE is :
(@) 14 cm (b) 18 cm © 12em A Nd) 105cm

;-‘\

el LgHear Qauafliypll yereuielmHa Gm_l_g,ﬁg)@ Grg,g,meur @g,rr@(’éa;rr@a;m

GUENTWIGTLD ?

(1) g (oﬁ(@wﬂ(ﬂ

(&) wyeupp eramanlsams %@um

How many tangents can be drawn to the cucle from an exterior point ?
(a) One CAB Two

(c) Infinite O\ (d) Zero

N
: N
«f‘.\

(-5, 0), (0, —5) LD[_DQ]LD (5 0) cgg,é]u_l Lareflsemrd) Samwsslu@L pa&Gareamsden
oy ¢ ;

(=1) 0 & .@{@J@&ieﬂ (%ﬁ F. S| GHEHeT
(@) 5. @lm@a;m () 10 & SHeGser

The area of triangle formed by the points (=5, 0), (0, —=5) and (5, 0) is :
(@) 0 sqg. units (b) 25 sq. units

(c) 5 sq. units (d) 10 sq. units
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x=a tand wHID y=D secO erefle,

N

[¥)
(%}
-
(¥}
=
(¥
(=
%}
lk
38 ] N
=<
Il
=)

=
lav]
S e
o
o

(@) 7-2"1 (@) T =l (@) T+

4 Q&5 2wy, 10 Q&8 Sigliyp eIl Lapd Gamer @@ @ggfr@n_l_ 2 (menerudl e
euepaTLIFLIL :

(9&10 T ST AV GSET (=) 20 7 &Iy é{@@m i

(@) 14 7 8817 O GS6T () 80 w &gy ﬂ%gm

The curved surface area of a right circular cy].mder m.f Iuelgﬂ 4 cm and base diameter 10 cm is :
(@) 40 7w sq. units (b) 20:11' sq. “nits

(©) 14 7 sq. units (d) aofr;r,sq units

Fwwrer 9L L LD WwHmb 2 W, g* | W Q@ 2 (heneT, e FnlbL LOMID &
Carergslen sean ojareysefler aEﬂé)gLD 4

(=) 1:2:3 (%)2; (&) 1:3:2 n-‘(:’a‘l-z
(@ 1:2:3 \(Bf*zls (© 1:3:2 - (&) 3:1:2
QO

@mr@é;asuugiji; Liysafled erenau e Blapsfluden Rapssers @mes Wiy wng) ?
(@00 (a)0s5 (@ 1.05 () 1

Which of the following values cannot be a probability of an event ?

(@ 0 (b) 0.5 () 1.05 (d) 1
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Qmuugpster HEpsH6] % arafled, x -@en wHLmEng : é}\

(1) 2 (aﬁ @) 3 () 15 QQ
Gy 2

The probability of getting a job for a person is % If the probability of not get
then the value of x is : )
(@ 2 (b) 1 © 3° (d) 1.

L@ - 11 /PART - 11

Goloy : eremeuGuigyb 10 N &S (EHE & aﬁlsmﬂu_laﬂé;@aﬁlwrr erar 28 -8

s_Lmwwons edewaflésay.

Note:  Answer any 10 questions. Question No. 28 is co&@ry.

15. AxB={3,2), (3, 4), 5, 2), (5 4) erafila, A m@%\—gé STETS.

If AxB={(3 2), 3, 4), (5 2), (5 4)} then find @d B.

16. f()=3x—2, g(¥)=2x+k wpmib fog Fgo[ @
If f(x)=3x—2, g{x)=2x+k and of, then find the value of k.
17. aPxb?=800 Greing)ajrrgh@ww_b Gm Blens ppéser ‘@’ HOID ‘b -Ré STETs.
@ i
‘a’ and ‘b’ are two@ integers such that ab xb2=800. Find ‘a’ and ‘b’.

2 3
4xy # 6xz

18. &M&EGS
OFO% " 0 ™ 0y
4x2y 6xz°
Simplify : X —
phfy 222 2()y4

10x2=20
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LI(m&SHHLUIQET ST e .

N

Find the sum and product of the roots for following quadratic equation. @

24+ 8r—65=0 {:\
g@\%r. CgT_&8&

19.  Geétaumid @muigd Fwenm g6 epahisafle (BB LHOILD 6l
x248x-65=0

20. @@ walger 18 1§ £psGs Qeany Genant 24 5 e 568 ©
Blaneudelmhg <ieur @mEED CsTaaameud Srams.

A man goes 18 m due East and then 24 m due North. Fin istance of his current

position from the starting point. &0.

21. A(—3,9), B(a, b) mpmib C(4, —5) ereian &(m i&r@m‘rjﬁg Yeeflaer womib a+b=1

erasfled, a HmD b -udler wHlemud Sreams.

If the points A(—3, 9), B(a, b) and C(4, —5) a@ﬂinear and if a+b=1, then find a and b.

~

22. (-1, 2) erenp yeirefl aufl @m%gg), srie) —~ 2eLwgwrear Crir&Gar i er

FOGTUTL_ NS ST,

\(:\ .
Find the equation of a sb@ne which has slope T and passing through the point
(-1, 2). ‘(:\ '

N
>

1+ o8 c\\ce + cotd eTatng HlepliEsaLb.

23.
1 — cosb
Prove that -1—1595—9 = cosecO + cot0.
1 — cosO
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2. @@ famo @rsECararsHen o liugliy 1386 5.8 eraflé), Sigear QwrssL
UDUUTLeUS STers.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area.
25. 2w 2 15 whmb S urliy 250 £.8 Qere @ 2 (menemufei Sa SieTaneud: ETets.

Find the volume of cylinder whose height is 2 m and base area is 250 sq. m.

26. Gar@asuulL grel Yeraflla@nse efés wpmib eSFasQsw c%aﬂu.@uj)éamé; SRS
25, 67, 48, 53, 18, 39, 44 N
Find the range and coefficient of range of the following data : / * l

25, 67, 48, 53, 18, 39, 44
27. @ QELLremged (leap year) 53 saflslpamosdr Semtliughsrer Blspssea| eraner ?

What is the probability that a leap year selected at fandom will contain 53 Saturdays ?

28. 23 wpmb 12 YHweupdlen 5.6l asmﬂﬂas

Find the HCF of 23 and 12.

S84 - ] PART - In

GOy : sremeuCuenitb 10 clanréaErsE o welésab. elerm eram 42 -~ & (&
sL_L_mwions, edentuiehéaay D, 10x5=50

Note : Answer any 1d£:g13ésﬁons. Question No. 42 is compulsory.
29. A={xeN| l<x<4}r, B={re W|0=x<2} LD ) M) LD C={xeN|x<3} erafled,
Ax (BUC)=(AXB)U(AXC) ereniang &flLIMT&S6LD.
Let A=(xeN|1<x<4}, B={xeW|0=x<2} and C={xeN|x<3}. Then verify that
A X (BUC)=(A X B)U(AxC).
[ Sy / Turn over
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30- A=10.1,2,3) wpmiib B=(1,3,5, 7, 9] ereruian G samisdr arars. f:A—B T@Ib oy
JQ)=2v+1 erems; Qasn@é;asuut_@drmg]. @) &arilenens (AFAC)

N
@ SwysEH L (i) oI Leuenemt QQJ
{

(i)  euflewss Comgaefen semrd  (iv) euanyuLb

< Fweunenms G LTI \Q

Let A={0, 1, 2, 3} and B=(1, 3, 5,7, 9) be two sets. Let f:A—B @mcﬁon given by
f(x)=2x+1. Represent this function | Q

() by arrow diagram (i) in a table Eoer

(iii) as a set of ordered pairs (iv) ina grale T
31. &m(ged sraws : 9B+103+........ 213 : O
Find the sum of 93+103+.......... 218 \

32. 64x -16x3+17x2—2x+1 Grémug,w;gy)wm ETERTE.

Find the square root of 6414—'%)7x2—-2x+1.

3 1 . ®
33. A= l:_l 2] ereuiled, ARTSA+71,=0 erew Himieys.

3 IS
If A= [_1 ;ﬁ@v that A%—5A +71,=0.
N

34. Ggevev Cgmmsens er(pd Hlepdssaib.

State and prove Thales Theorem.
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1B (=Y -2 (-8 -4, (2, 5 obpd (1, -9 aly géeleemar (paanaatitek LaTER

mrhay Al i ik ae e s

1§ < B (¥ -3
I-m!! the nren of q'ih(]nlr?r-p] whicss vertiops a=s ab t-_‘)' e 4 -0 (2 2) arid ¥ -'\

Q

6. Al-4, 2) wwhph B6, < 4) ey o rma

QA e kil ek mE SR AR
EADERILITL_ 60 & #nerna

-

Find the equation of the perpendicular Beector of the line joining the ;*nin@ Iy and
B(6, —4).

7. @M slLudsd swriisag dasagha GO Uasd st gl LGl e L T

, B . . ) ) . “W~ PO .
Qeu_lﬁmg)m. @@ auumuﬂcﬂ@gﬂ amIEenT cﬂm& :;'_.1.{.[3..11 & DD&E

) ’ . ~ ¥ . - . & . ' & J 2 s M _“’ "
Com.mrempriiy a0 wpanpGu 307 PO 45" LS. QST EO Leflan oo 200 U

aafld, @m studsEnie oGy edm Qereoamaigfrana. (/3 = 1.752)

Two ships are sailing in the sea on either sides of a li ute, The angle of elevation of the
top of the lighthouse as observed from the ships araJ0" and™5" respectively. If the lighthouss
is 200 m high, find the distance between the twoshigh (/3 = 1.732)

O

@ @ yp Srisd papCu 28 @s.8
EEN STEDUA ST,

38, 45 QoS cwpepdiar @i @ &san
whmih 7 Qs.b aafld, B saan g

If the radii of the circular ends of stum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum. ¢

39. 6 Q&8 @y '\]Snﬁ e wyh Qerar.. @@ Cpr al L 2 mavar angaul
ungESn ppau aflgsay) (lce<ream) e @rarg; SiFsl valléauprang, sub
HmID Sien7&EC Rearhs agaddld Ariuiu@dng. sabldr e wnb 9 Qa8
wHmh o N8 aalld, urgdrsde edae ualldmay Arouu dizaas
selbyaat Caenal?

A right circular cylindrical container of base radius 6 cm and height 15 cm is full of
ice-cream. The jce-cream is to be filled in cones of height 9 cm and base radius 3 cm, having
a hemispherical cap. Find the number of cones needed to empty the container.

[ Hpligs / Tum over
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40. 24, 26, 33, 37, 29, 31 g Hweupdlen wrpurlHé Cspameid HTEHTE.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

41. @rew() UsmLSET @ (pem o (mlLLuGHanar. PSD Ua;ml"ug]m@g’w‘éﬁuu
@Qrien ) UL eTar ojeg) wps LGl mbso 8 -2 ﬁ@,(:g_gg,g)aarrem

BEpssmeals srems.

Two dice are rolled once. Find the probability of getting an even numbel';ﬂ the first die or
the total of face sum 8. L )

,
“i
D

& ;l&

ENCELR-AC S

Find the sum to n terms of the series 7+77+777+...._,,;ffl."

UGSl - IV /PAR'% -"fV

- @I ¢ Semenss elammssEnsEhn e eflgseal. 2x8=16
Note : Answer all the questions. p f*\}

J

W
P ‘Qx‘,: ¥ 4
43. (=) PQ=450s.15, R =35 wifibe 58 R -W9elmpg vl L p@&Cam e
ferb RG=6 Q&.15 erew a:;q\ééai&ﬁ'u.;mrrngPQR UDE.

(<) 6 Q&.15 G)Sh_l_(y)g@ml_un a@rhg L gdear mwwidadmbs 8 Q.18
anmwaﬂwl’ﬁrfw Yereaflenws @hléseyn. Auyeraflufelmpe PA wHmib
PB erét1m t@g@y@@m@&m aumrhgl Slunbler Beriisener oarallHe.

S{VEVG)

(a) ConstruCt&éPQR which the base PQ=4.5 cm, |R =35° and the median RG from R to
PQis 6{,@% y
¥ w OR

(b) Drawa circle of diameter 6 cm. from a point P, which is

“ 8 cm. aw :
Draw the two tangents PA and PB to the circle way from its centre.

and measure their lengths.
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44. (=) y=222-3x-5 -Wer quenUL LD euenpbgl, SIgemars uwearu®ss 2x2—4x—6=0
eTen FWwenUT el g Si&EseL. \
SAees )

() xy=24, x, y > 0 eTaMD QUETLIL Seg GuaTSH. uUenTUL SenSLI vweruBSS. Q

(i) x=3 erafled y -B& sreaws. Q
(i) y=6craflle x -m& STaMs. (b
(a) Draw the graph of y=212—3x—5 and hence solve 2x*—4x—6=0. Q
ox O

(b) Draw the graph of xy=24, x, y > 0. Using the graph find, @

(i) y when x=3 and
-00o0- &

(i) x when y=6.
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